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Gated 
e = small+R 

0           200         400         600         800        1000 

TS Normalized                                                     PI 
ID  %  Count  MnX  Md X  PkPosX   PkCnt  HPCU Min.  Max. 
E  35.4  3542 115.5    95.9      34.0         79     10.28   0.0   271.0 
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Gated 
e = small+R 

0           200         400         600         800        1000 

ID   %   Count   MnX  Md X  PkPosX  PkCnt  HPCU   Min.    Max. 
A   2.38   238    149.6  150.2      36.0        5         3.93     0.0     309.0 
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TS Normalized                                                 PI 
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ID   %   Count  MnX  Md X   PkPosX   PkCnt  HPCU  Min.  Max. 
F    29.5  2951  142.5  130.2      33.0         35     15.22   0.0    293.0   
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D 

ID  %   Count  MnX   Md X  PkPosX  PkCnt  HPCU Min. Max. 
D  8.26   826   198.7   253.5   309.0     19         0.49    0.0  309.0 
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0      32     64    96   128   161    92   224   256 

Cell cycle data 

 
 
 
 

G1 = 83.5% 
G2 = 9.25% 
   S = 7.28% 

  χ2 = 2.01 

Cell No. = 10000  

Z0008405.H03 090909-ZWD-14 

DNA content 
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G1 = 76.5% 
G2 = 12.9% 
   S = 10.6% 
  χ2 = 3.42 
Cell No. = 10000 
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Cell cycle data 
 

Z0008402.H03 090909-ZWD-11 
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